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p) 390,000
= 15,000
< 2,891,050
Al 27,746,455
T2 s8& el 7,446,965 6,492,190 954,775
= 350,000
2 675,000
= 898,000
Al 5,523,965
Hel2 A &8 2 Itz2s sAzal 1,366,727 1,114,077 252,650
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O CLANIS s 20,0002 * 8% » 90 14,400
307 GI2+0IH 130,000 0 130,000
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O =o4"X= Zdl 130,000
O 4&X=2 Zdl 849 130,000,000& * 1A 130,000
2. 2ets = X2 1,152,907 1,030,077 122,830
201 B3| 637,787 582,413 55,374
01 AtS 22l 11,100 9,000 2,100
[ et~ 6,700
O A2F Md&ZEH &I 500,000& = 4& 2,000
O =AMEXN 7Y 20,000 * 100&+A 2,000
O 23 NMAaz 10,000& * 308 * 53 1,500
O ARES 7Y 5,000& * 20& » 123 1,200
] I=dl 1,600
O Hg=s 200,000 = 4H 800
O ZHgst 200,000 = 4H 800
[ =&l 2,800
O Jz2s, gd8s sl 24 7,000& = 4% » 100 2,800
02 23234l 606,687 553,413 53,274
0 =322 ¢ HA 586,087
O J=8 507,995
s 4,008 » 4,7008 * 128 227,292
S g 55.3% * Q0kw * 4,700 *» 12 280,703
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O Nsxt A== 70,000& = 3CH 210
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01 M=z bl 20,000 10,000 10,000
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_4_




A AL
I £20 58X e
o T2 WEAY (el &)
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
C2 WEAY 4,730,238 4,028,113 702,125
= 350,000
3 898, 000
Al 3,482,238
S22 . WEANE K2 1,460,051 796,035 664,016
101 el 22,897 22,897 0
04 JI2tHIZ2E2NEE S 22,897 22,897 0
O nSEXA 212 57,8203 » 4% » 32 » 33KI&E 22,897
201 B3| 111,430 113,370 21,940
01 AtS 22l 23,550 23,550 0
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d2sg 282,724,000& * 1/12 = 150/100 29,091
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